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Aninequality is a /777 A/ oo ow o sentence that
o 77 <7 two quantities using the symbols < ~ "
< o =

An inequality has more than one solution.

For example x < 8, is read "x is less than 8". The values of x could be

b, =0 300 ., X Cdarte for v G oS5 LPRT
Symbol Meaning Example Graph
< « is less than x<5 2 3 4 5 6 7 8 9

B T AN The open circle indicates that 5 is

NOT a solution

> is greater than n>12 o ; ] ”

. th 4 o 4 8 12 16 20
| raareringn The open circle indicates that 12 is

NOT a solution

is less than or equal to
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= « is at most a<—4 g8 7 & 5§ -4 -3 -2
—— * is no more than The closed circle indicates that
-4 is a solution
- * is greater than or ; Frimmm ifmmm————_—»-
= equal to y=-=7 19 -9 -8 «7 -6 -5 ~4
* is at least The closed circle indicates that
* is no less than -7 is a solution

et Example 1: There are at least 7 gallons of gas. Write an inequality to
represent the statement. Then graph ifs solution set.
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